FOEKFHPFRBEFEFTRE Sy h—HERO

A H T26FE6H10R8 () -118 (K)-12H8 (K) FiHBA13H (&)
= 5 RBREFLE(CE - KFWIYYHh—-FTE—5H (Y12 T1—ILFAIE)

iEs i d=]
& 3 AT XE (KFH)
8k FEHRAM KFH)

ElEF SRS fr EAN (KFM)
Bk -EH) F EAN OKFm) B/F EE & K

B8 - B

B =T OkF—) DMEBEAN OKF—) FREE— OKF—) #5351 Xt OKFZ)
AMBESR OKFZ) HW @ OKF=) #&Xx B (KF=) & EA KFHE)
I B OkFI)  H/E#E— KFR) &Hx =A (& B &L RE (& [E
A+H)E= (& D) /% &N R ) T @ (F 5 BEO —E F &)
BA BE (% K AR AKX & &K Bllsply (5 J) ZH BE (& D
Al &G WER) Ka BT (NER) MMM #HE W B AR H%T (W B)
mEH E (KR W) AEMEE (R W) KU —A (F K FA XL (T K
=#t #E (B & KA EE (F B @3 EXx (A K SHAXF (R K
BARSE (X B EHF #ME B BEX A E B IR\AREF &E B

R (1) HERX, b—F A2 FAKXTITS,

2) HEERE 5049 (25-5-25) EE1@E P - KA
(3) HFAE - EFXHK
- ZBRABUIHIREL TS, )
- BFRRICKY—ERBUVEFERELBUHIBETE S,
- AKREICEWNWT, BEZGEON-EFIL, RO 1BEICHBTEAHLY,
- ARHED, BHE2ERTEEFE, RO 1HABICHETEEL,
(4) HEHKIIS5BIKEL, KEXHTHET S,
(5) KPFMESHFETIE, HRIMRRKE~HIFETES,
6) Z0fh- - - BERY Y H—BEHEBIRAIIZK 5,

5 fHAEDLE .
[b—F A L] [19]

SHLREE 13:00
(20] RB% 14:10

6/12(K)
[3BH]
[16] #E;RA%9:30 [17] #E;RR$10:40
6/11 (5K)
[2BH]
[10]) [11]) [13]) [12])
6/10 (k)
[1B8H]
Y5 24 JE1 Y4 Y3 g2 ¥E3 Y2
Y1
1 2 3 4 5 6 7 8 9 10 | 11 12 ] 13 14 || 15 16 | 17
BI||#F|| XK K| & Bt || A | KKK F|&| | X[ 5B x || &
= P = FI|IF =3
i & || — =& B|| &R =& g || = || &1 | R
“““““““““““““ ny || wsr | emion
[2B8H]
[18) S{rikREE 11:50 6/12 (K)

(3BE]




A EFE R UEHIE %

No. BE | &5 HE £ EE 2| 2 =
Y1 9:30 F E vs KFE—
Y2 10:40 W * W ovs & R
4
>
Y3 11:50 | = KFM vs KEZ
Py
|
6 v4 13:00 | 1 ®E % vs KFER
H N
10
H 5 14:10 B Il vs 91 B
¥E1 | 10:40 Mt B vs RN &
¥E2 | 11:50 b7 F K vs &% [
I}
B
Y83 | 13:00 N NES vs B
&4 | 14:10 KEFE= vs B &
[10]) 9:30 95 VS ¥4
[11) | 10:40 &1 Vs 94
v
6 4
B | [12)] | 11:50 > ¥E3 vs Y2
11 2
= 4
[13] | 13:00 | Y3 Vs ¥E2
L
K
[14] | 14:10 [10] B vs [11] B
[15] | 15:20 [13] B vs [12] &K
(161 | 9:30 [10] B vs [11] B% R
[17] | 10:40 [13) B vs [12]) B HER B
v
6 4
B | [18) | 11:50 > [14) B vs [15]) B 5k
12 2
= 4
[19) | 13:00 | [16] Bk vs [17) BR 3R
L
K
[20] | 14:10 [16) & vs [17]) B RS




